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Zakrouzkuj spravny pritomny cas a dopln do vét anglické nazvy obleceni.

o
1. Q Mary is wearing / wears a now.
2. |’'m wearing / wear blue on Mondays.
3. Tom isn’t wearing / doesn’t wear S.
4, We aren’t wearing /don’t weara __ at the moment.
5. My dad isn’t wearing / doesn’t weara at home.
6. He is always wearing / always wears
Dopln otazky a odpovédi. Ceny vypis slovné
1. 21 S How much ?
—It’s dollars.
2. 40 £ How much ?
-It's pounds.
505 How much
- They're dollars.
39 £ How much ?
- They're pounds.




Odpovéz na otazky.

1. What are you wearing at the moment?

2. What clothes does your mum wear to work?

3. Do boys in your country wear skirts?

4. Are you wearing white socks now?

5. What clothes do you wear in summer?

Pritomny cas prosty ¢i prubéhovy? Napis slovesné tvary ve spravnych ¢asech.

1. Mary usually trousers to school. (wear)

2. Peter new boots at the moment? (buy)
3. We shopping at the weekends. (not got)

4. you wearing trainers? (like)

Najdi faktické chyby v textu a véty prepis. V kazdé vété mohou byt 1-2 chyby.

Sally’s wearing a summer dress.

Sally s wearing mittens on her feet.

Sally’s wearing a scarf around her hands.

Sally’s wearing a straw hat on her head.




Zakrouzkuj spravny pritomny cas a dopln do vét anglické nazvy obleceni.

1. Mary wears a coat now.

2. I'm Wearingblue trousers/jeans on Mondays.
3. Tom isn’t wearing skirts.

4, W/ don’t wear a cap at the moment.
5. My dad isn’t wearing a tie at home.

6.

He is always wearing £ always wears) socks.

21 S How much is the T-shirt?

—It’s twenty-one dollars.

40 £ How much is the dress?

- It’s forty pounds.

50S How much are the boots?

- They're fifty dollars.

39 £ How much are the trainers?

- They’re thirty-nine pounds.



Odpovéz na otazky. Volné odpovédi. Napr.:

1. What are you wearing at the moment?

I’'m wearing a white shirt, blue jeans, red jumper and white socks.
2. What clothes does your mum wear to work?

My mum usually wears trousers and a shirt to work.

3. Do boys in your country wear skirts? No, they don’t.

4. Are you wearing white socks now? Yes, | am. /No, I'm not.
5. What clothes do you wear in summer?

| wear a skirt or shorts and a T-shirt in summer.

Pritomny cas prosty ¢i prubéhovy? Napis slovesné tvary ve spravnych ¢asech.

1. Mary usually wears trousers to school. (wear)
2. |s Peter buying new boots at the moment? (buy)
3. We don’t go shopping at the weekends. (not got)

4. Do you like wearing trainers? (like)

Najdi faktické chyby v textu a véty prepis. V kazdé vété mohou byt 1-2 chyby.

Sally’s wearing a summer dress.

Sally’s wearing a jumper.

Sally s wearing mittens on her feet.
Sally’s wearing gloves on her hands.
Sally’s wearing a scarf around her hands.
Sally’s wearing a scarf around her neck.

Sally’s wearing a straw hat on her head.

Sally’s wearing a cap on her head.
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